
Suggestions for PS 14:

2. VII.12:  If , why is Ker  trivial? Show this implies Ran  is dense (by an- - - !  E E
earlier theorem).  To show Ran  is closed let  be Cauchy, and prove  is- -E Ð  EÑB B8 8

Cauchy by showing lØÐ  EÑBß BÙl   -mBm Þ- #

4.  Fourier spectrum:  Show that  is an eigenfunction.  Consider the operator0 ÐBÑ œ /!
B Î##

H œ  B ÐH0ÐBÑÑ œ 3HÐ 0ÑÐ ÑÞˆ ‰.
.B .  Show that Thus show thatY Y 0

YH / œ 3 H / Þ H /8 B Î# 8 8 B Î# 8 B Î## # #( )  The functions  are multiples of the Hermite functions.


